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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15

RriE) | BRI (D) | EHME (EAH/K) | XK SRR

07:05 283 150. 0 B5| ThHBe07:05 KREIEF (KRAEZESE)
07:45 283 150.0 Be| ThHHe07:45 RHEEF (KRAEZRER)
08:45 283 150.0 B5| TNHA@08:45 KENFEFF (RF1ERER)
09:40 283 150.0 Be| TiHA@09:40 RHEFEF (KFAERE)
10:25 283 150.0 Be| ThiHH@10:25 RHEEF (KRAEZRERE)
11:10 283 150.0 B5| THAe11:10 KREFEF (RAAERSE)
11:50 283 150.0 R5| TiHAe11:50 KREERF CRAEHS)
12:30 283 150.0 Be| TiHHe12:30 RHEEF (KAEZRE)
13:10 283 150.0 B5| THAe13:10 KRENFEF (RA1EREE)
13:50 283 150.0 R5| TiHAe13:50 KHIEF (RAEHS)
14:30 283 150.0 RE| FiHRe14:30 REIEF (REERSR)
15:15 283 150.0 RS FrHRe15:15 KREEBF GREAERS)
16:05 283 150.0 BS| THHA@16:05 KENFEF (RAFEESE)
17:15 283 150.0 RS FhHA@17:15 KENIEF CGRAFER)
21t 3962.0 (14)%) 2100.0 3ZUHIKEC: 2080.0, PH: 5.5

E&PH (7.17) R

[BIREC 5967.0 K&, EiNF{KECHE & P%ER
HEEIHECE (2393.0 vs 5967.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=57 (2025-05-27)
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P3-15

BfiE) | EBIETK D) | El=E (EH/HK) | XK ERE

07:10 288 150.0 RS {Ri&e07:10 Bz (REERSE)
07:55 288 150.0 s {Ri&e07:55 Bl (REEESE)
08:40 288 150.0 BE| {Ri&e08:40 B (REAERHE)
09:30 288 150.0 BE| {RRi8009:30 Bz (REERSE)
10:20 288 150.0 | =| 1Ri&e10:20 Bz (KRBEEE)
11:10 288 150.0 RS fRigke11:10 Bz (REERS)
11:55 288 150.0 e Rige11:55 Bz (REAERSE)
12:40 288 150.0 Bl Rige12:40 Ba (REAEESE)
13:25 288 150.0 B 1Rige13:25 Bzh (REEESE)
14:10 288 150.0 RS {Rike14:10 Bz (REERS)
15:05 288 150.0 S| Ri%e15:05 Bz (REERSR)
16:10 288 150.0 B 1Rige16:10 Bzh (REAEESER)
29t 3456.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (187.0 :

ZRIALBRIERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (242:3.0), set to 242 ml.
[E]/&EC 5543.0 K75, B FARECALA AR

FEIKECE (2370.0 vs 5543.0) d 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=56 (2025-05-26)
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P3-15

BYiE) | GEBETK () | Bl (EA/#R) | XS SRR

07:05 294 150.0 BE| {Ri&e07:05 Bzl (REAEHE)
07:45 294 150.0 BE| 1Ri%e07:45 B3 (KRGS
08:25 294 150.0 S| {Ri&e08:25 B (REAEEE)
09:15 294 150.0 RS {Ri&e09:15 Bal (REAEHE)
10:05 294 150.0 BE| 1Ri%e10:05 Bz (RF{EREE)
11:00 294 150.0 el Rige11:00 Bal (REAEESE)
11:50 294 150.0 el Rige11:50 Bz (REAERSE)
12:35 294 150.0 BE| 1Ri%e12:35 Bz (KRGS
13:15 294 150.0 el Rige13:15 Bal (REAEESE)
13:55 294 150. 0 5| {BRige13:55 B3 (RPBERKS)
14:35 294 150.0 RE| {Rike14:35 Bz (REERS)
15:15 294 150.0 S| 1BRige15:15 Bah (REERESR)
16:00 294 150.0 | Ri%@16:00 Bz (KREAERESE)
16:50 294 150.0 BS| 1Ri%e16:50 B (GRE{EEEE)
23t 4116.0 (14%) 2100.0 #2H®EC: 2080.0, PH: 5.8

FEREHEME STEAEARST (191.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (242:9.0), set to 242 ml.
BE[ERECE (2323.0 vs 4957.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=55 (2025-05-25)

150 Fm—————F——————F——————F-—————F-—————F——————F——————F——————F——————F——————f——————F—= ]
VI, V&RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET
2000 950
1900 L
100 - - 70q 2000
50 - - 1000
40 Warning: lcol [FVI',| "FVO’'] missing 40
0 - 06
( mm v — ME P
200 - FRV maxM | 34
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1 | - 28
- 11 1 1 P il frrIv 1
4
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5. 8 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
3004 BylInit!@D57 01:56: ET=1817 Fg=2250.0 Ro=446.0 3000
200_ _2000
100 - \I - 1000
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 (3)000
ORI 70 0 0 0 0 0 0 0 0 0
1
ByEt @D55 16:36: ET=1842 Fg=2100. 0 Ro=nan |
200 4 I & — 88 2000
100 4 - 1000
p— & S ——© 4
i G- S S e — e
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 (3)000
ORI 70 0 0 T 0 0 0 0 0 0 0
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ByWoFv 1@D57 01:56: ET=1700 Fg=2100.0 Ro=398.0
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1 i
1
100 - : x/./[/ IK L 1000
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S . S— a J‘I_IJNI_“_I\\\‘
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0.4 1
0.2 A
0.0
1500 A1 —_— 4

1000 - —@— PPFD obs
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[ ] | _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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P3-15

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:15 294 150.0 RS {Ri&e07:15 Bzl (REAERE)
07:55 294 150.0 A5 {Ri&@07:55 Bz (REERE)
08:35 294 150.0 S| 1Rige08:35 Bah (REEEE)
09:15 294 150.0 RS {Ri&e09:15 Bal (REAEHE)
09:55 294 150.0 BE| 1Ri%e09:55 B3 (RF{EREE)
10:45 294 150.0 Rg| 1Ri%e10:45 B (REEREE)
11:35 294 150.0 el Rige11:35 Bz (REAERSE)
12:20 294 150.0 BE| Ri%e12:20 B (RF{EREE)
13:00 294 150.0 S| 1Ri%e13:00 B3h (REEER)
13:40 294 150.0 B 1Rige13:40 Bzh (REAEESE)
14:20 294 150.0 RS fRike14:20 Bz (REERS)
15:05 294 150.0 S| 1Rige15:05 Bh (REEER)
16:00 294 150.0 | Ri%@16:00 Bz (KREAERESE)
17:20 294 150.0 B 1Ri%e17:20 Bz (GGREMEESE)
23t 4116.0 (14%) 2100.0 329333 KEC: 2080.0, PH: 5.8

FEREHEME STEAEARST (191.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (340:32.0), set to 340 ml.
BE[ERECE (2223.0 vs 4393.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=54 (2025-05-24)
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174 Warning: lcol [FVI',| "FVO’'] missing 40

T
N
o
o
o

- 1000

1.0

Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-15

BfiE) | FEBIETK (D) | E#=E (EH/) | XK EFF

06:55 300 150.0 FH| 1Bi%@06:55 Bzh (kAMEEEE)
07:40 300 150.0 (2 =| 1Ri%e07:40 Bzh (kBHERESE)
08:25 300 150.0 (Z=| {Ri%@08:25 Bz (FRHEEEE)
09:10 300 150.0 (& =| 1BRi%e09:10 Bz (kBERSE)
10:00 300 150.0 [Z=| {Ri%@10:00 Bz (REERHR)
11:00 300 150.0 | =| 1Ri&e11:00 Bz (REB{EEE)
11:50 300 150.0 (2 =| 1BRi%e11:50 Bz (kAFERSE)
12:30 300 150.0 (B =| 1Ri%e12:30 Bz (GkBERSE)
13:15 300 150.0 FH| 1Ri%@13:15 Bzh (REBERRSE)
14:05 300 150.0 FA| {Ri&@14:05 Bz (GRAEEE)
14:45 300 150.0 FE| 1Ri%@14:45 Bz (kBERSE)
15:30 300 150.0 FA| {Ri&@15:30 Bzl (GkAEEE)
16:15 300 150.0 FE| 1BRi%e16:15 Bz (kAFERSE)
24t 3900.0 (13%) 1950. 0 3ZHREC: 2080.0, PH: 5.8

FEREHEME STEAMEARS (195.0 : 153.0), AIEEAT—@%E XAHE5
ZRIAKFREBRE153. 0 ml.

large discrepency for begining water status (313:93.0), set to 313 ml.
BEEIRECE (2080. 0 vs 4413.0) T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=53 (2025-05-23)
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